MONEY FLOW INDICATOR
declare lower;

input length = 21;

def tmp_var = 

if high == low then 

  volume 

else 

  (close - low - (high - close)) / (high - low) * volume

;

def sum_close = sum(tmp_var, length);

def total = sum(volume, length);

plot CMF = 

if total == 0 then 

  0 

else 

  sum_close / total

;

CMF.SetDefaultColor(GetColor(1));

plot ZeroLine = 0;

ZeroLine.SetDefaultColor(GetColor(5));

RSI MODIFIED
declare lower;

input CorrelationWithSecurity = "SPY";

def close2 = close(CorrelationWithSecurity);

plot RS = if close2 == 0 then 0 else close / close2;

RS.SetDefaultColor(GetColor(6));

def sr = CompoundValue("historical data" = RS, "visible data" = if IsNaN(sr[1]) then RS else sr[1]);

plot SRatio =  sr;

SRatio.SetDefaultColor(GetColor(5));

plot midline = (HighestAll(RS) + LowestAll(RS)) / 2;
OVERBOUGH, OVERSOLD
declare lower;

input RSI_length = 14;

input over_bought = 80;

input over_sold = 20;

input RSI_average_type = AverageType.WILDERS;

input RSI_price = close;

input KPeriod = 14;

input DPeriod = 3;

input slowing_period = 1;

input averageType = AverageType.SIMPLE;

def RSI = RSI(price = RSI_price, length = RSI_length, averageType = RSI_average_type);

plot FullK = StochasticFull(over_bought, over_sold, KPeriod, DPeriod, RSI, RSI, RSI, slowing_period, 

averageType).FullK;

plot FullD = StochasticFull(over_bought, over_sold, KPeriod, DPeriod, RSI, RSI, RSI, slowing_period, 

averageType).FullD;

plot OverBought = over_bought;

plot OverSold = over_sold;

FullK.SetDefaultColor(GetColor(5));

FullD.SetDefaultColor(GetColor(0));

OverBought.SetDefaultColor(GetColor(1));

OverSold.SetDefaultColor(GetColor(1));
